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1. Fill in the blanks in the given table by

choosing an appropriate option.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_CaQAb8CGhQbe

5. | Salt Parent Parent pH of
No. acid base aq. salt
solution
1. |NaClo HCIO NaOH B
2 1 [Hcl Cu(OH), |
3. |NH.HCO; v . =7
4. |CH,COOK |CH,COOH |KOH Vi

@ G G G ™) )
7 cuCl, =7  NH; CO, 7
=7 , <7 HCO, NHOH =7
=7 Cw0 =7 NHOH HCO, 7

7 =7  NH; HCl

OnwE

|

o Watch Video Solution

2. If melting point and boiling point of
substance X are —82°C and -60° C respectively

then, which of the following is correct for the


https://dl.doubtnut.com/l/_CaQAb8CGhQbe
https://dl.doubtnut.com/l/_J0NW6ufvZ3pu

substance X?

Xat-T0°C Xat-50°C
A_ Particles are tightly Particles are loosely
packed and not meving packed and randomly
moving
B. Has definite volume but  Nerther has definite vol-
no definite shape ume nor definite shape
C. Possesses fluidity Possesses ngidity

D. Isalmost incompressible Is completely
mcompressible

° Watch Video Solution

3. Read the given passage and fill in the blanks
by choosing an appropriate option.

Bleaching powder is a (1) powder.

When exposed to air, it reacts with __ (ii)  of

the air to liberate CI> gas. It is (iii) in



https://dl.doubtnut.com/l/_J0NW6ufvZ3pu
https://dl.doubtnut.com/l/_Ep59diaAzgV6

cold water and milkiness of the solution is due
to the presence of unreacted  (iv) . It

reacts with HCl and H,S50, liberating  (v)

gas.

@ (ii) @ @) o)
A. Bluecrystalline Moisture  Soluble €O, SO,

B. Yellowish white CO, Soluble ]..il]l;‘_‘ Cl,
C. White 0, Insoluble Lime  Cl,
D. Yellow Moisture  Soluble  CO, 1,

o Watch Video Solution

4.The ratio of the number of molecules in 4 g
of hydrogen to the number of molecules in 5.6

dm?® of oxygen at standard temperature and


https://dl.doubtnut.com/l/_Ep59diaAzgV6
https://dl.doubtnut.com/l/_MX44hYyZyCda

pressure is [Given: Atomic mass of H=1u and

0O =16 u]

A2:1

B.3:4

C.1:4

D.&:1

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_MX44hYyZyCda

5. Rohan added different substances P, Q and
R to three beakers each containing 30 mL of

water as shown in the figure.

He observed that the temperature of beakers |
and Il increases while that of beaker Il
decreases. Substances P, Q and R could be

respectively

A. NH4N03, KOH and NCLQCO?,HQO

B. NH3Cl, CuSO4 and NaCl


https://dl.doubtnut.com/l/_kGaOlN76yweS

C. Nay SOy, CaO, CuSOy4, 5bH,0

D. NCLNO3, KCl, KQSO4

Answer: C

o Watch Video Solution

6. The boiling points of some gases aer given
in the table. If their liquid mixture is subjected

to fractional distillation , the order in which


https://dl.doubtnut.com/l/_kGaOlN76yweS
https://dl.doubtnut.com/l/_ECiPkprWntCN

gases will distil over is

Gas B.pt. (°C)
Kr —153
Ne —246
N —196
0 —183

A. kr,O,N, Ne
B.O, N, Kr, Ne

C.Ne,N,Kr,O

D.Ne,N, O, Kr

Answer: D



https://dl.doubtnut.com/l/_ECiPkprWntCN

° Watch Video Solution

7. Study the given flow chart carefully and

identify V, W, X, Y and Z.

Steam White " Gas
T—’ solid (1) | | om)
Sulphide Concentrated E:"tr“teibi bijr {.Z]
oae LX) by (T) with carbon
¥ " X T £
A Zn{OH). H, Cimabar Leaching Roasting
B. Zn( H. Zinc Froth Roasting

blende Hoatation
C.  Zn0, HO Galena Froth  Calcination
floatation

D ZnQ H, Calamine Calcination Roasting

° Watch Video Solution



https://dl.doubtnut.com/l/_ECiPkprWntCN
https://dl.doubtnut.com/l/_T2yB8KjLYGhT

8. Kunal, a class 10 student studied the
reaction between marble chips and dilute HCI.
He took 50 g of marble chips and 100 mL of 0.1
molar HCl solution. The given graph shows
how the total mass of marble chips varies with
time as the reaction proceeds.

Which of the following statement are

incorrect ?


https://dl.doubtnut.com/l/_QrmvwCs5m082

1 &
7

Mass of Cal o)
-~

F ¢

Time (mun) ~

l. More and more C O3 gas is evolved along PQ.
Il. CaC' O3 remains unreacted after point P.
lll. Reaction gets completed at point P.

IV. Dilute HCl remains unreacted after point P.

A.land IV only

B. Il and Il only


https://dl.doubtnut.com/l/_QrmvwCs5m082

C.1,Iland IV only

D. 1, Il and IV only

Answer: A

o Watch Video Solution

9. A part of the periodic table is represented

as:

S| |
e |

In the given section of the periodic table, the


https://dl.doubtnut.com/l/_QrmvwCs5m082
https://dl.doubtnut.com/l/_G1dwrMi3LZID

most metallic element, the most non-metallic
element, the smallest atom and the atom
which has complete octet in M shell are
respectively

A.Q,R,RandT

B.R,P,Pand S

C.Q,R,PandT

D.P,R,Sand T.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_G1dwrMi3LZID

10. Atomic structures of elements P and Q are

schematically represented as:

/...-— .'_"\-\.\ ’/ﬁ_.- +ﬂ.x‘~.~

| 11 (@)

e/ "x}'//'ﬁ
P %)

-

-

Which of the following statements is/are P
correct?

l. P and Q will form the compound P5Qs. Il. P
will form phosphide with formula PP;.

lll. Q exists as a divalent cation.


https://dl.doubtnut.com/l/_G1dwrMi3LZID
https://dl.doubtnut.com/l/_woBbOdPGsGrt

IV. P can form P°~ anion to attain the noble

gas configuration.

A.land Il only

B.land lll only

C.Illand IV only

D. 1 only

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_woBbOdPGsGrt

11. Consider the following reactions :

l. Ethanol is oxidised by acidified K,C'r,0~

ll. Methane undergoes complete combustion.
lll. Ethanoic acid reacts with anhyd.Na,COs.
IV. Ethanol reacts with sodium metal.
Reaction(s) in which water is one of the

products is/are

A.land Il only

B. I, 11 and Ill only

C.llland IV only


https://dl.doubtnut.com/l/_a1YccQQy43HC

D. Il only.

Answer: B

° Watch Video Solution

12. The percentage by mass of water of
crystallisation in hydrated copper sulphate is
[Given: Atomic mass of Cu=63.5u,H=1u,0 =

16 uand S =32 u]

A. 42 %


https://dl.doubtnut.com/l/_a1YccQQy43HC
https://dl.doubtnut.com/l/_Y9JrApv3DyTI

B.32 %

C.63 %

D.24 %

Answer: B

o Watch Video Solution

Achievers Section

1. When an alcohol is heated with excess of

conc. HyS0, at about 170°C, it gets


https://dl.doubtnut.com/l/_Y9JrApv3DyTI
https://dl.doubtnut.com/l/_okumdabJpxca

dehydrated to form alkene(s). In this reaction,
conc. Hy 50y acts as a dehydrating agent.
Which of the following statements is/are
correct when 2-butanol undergoes
dehydration?

l. Only one alkene having same number of
carbon atoms as in 2-butanol is formed.

ll. Two alkenes having different structural
formulae but same molecular formula are
formed. Only one alkene having one carbon
atom less than 2- butanol is formed.

IV. Two alkenes are formed out of which one is

terminal and other is non-terminal.


https://dl.doubtnut.com/l/_okumdabJpxca

V. Two alkenes having the same percentage

composition by mass are formed.

A. 11,1V and V only

B. lll only

C.lland IV only

D. 1 only

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_okumdabJpxca

2. When an alcohol is heated with excess of
conc. HyS0, at about 170°C, it gets
dehydrated to form alkene(s). In this reaction,
conc. Hy 50y acts as a dehydrating agent.

If boiling point of an alkene formed in a
dehydration reaction of an alcohol is —6°C
then, which of the following could be the
boiling points of succeeding and preceding
members of this alkene in its homologous

series respectively

A.—48°C and — 104°C


https://dl.doubtnut.com/l/_S9UgN5hbDM9I

B.30°C and 64°C

C.—104°C and —48°C

D.30° and — 48°

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_S9UgN5hbDM9I

